M)1.3 > 1.32 @1.79:E ® 0.5=0.50
) 994
@ 39<4 ® 10.04=%

.. 179-1
1.79 =
@ 99
® 0.5 > 0.50
@®39=4
. 1004-100 904
1004= — — ="
& 100 90 90




2. x?-2x-50] o]t A& Faol & AL BEste] WAL 342 —2x-7
o] Eloict. £ Aker A& Folu?

O -x*+2x-3 @ x*-2x-3 @—x2—2x—3

@ —-x24+2x+3 ® x24+2x+3

B ‘
ol® 42 Azt ot
x?-2x-5-A=3x2-2x-7
A=-2x242
x2-2x-5+4+(-2x* +2) = -x?-2x-3
—-x>-2x-3




© 2xy? 2)-3xy? ® 3xy?

@ -3xy°+y ® 4xy* +y

B

(-9x2y% + 3xy?) =+ I:I =3x-1
(-9x%? + 3xy?) = (3x - 1) x[__]

|:| = (=9x%? + 3xy°) + (3x - 1)
=-3x?(3x-1)+ (3x-1)
= —3xy2




2 3 2 22_42
4 x=-3y=-29m DS SRR o grey

@ 16 @17 ® 18 @ 19 ® 20

B

x2y + 3xy? N 2x%y — 4y?
Xy y

=x+3y+2x% -4y
=2x>+x-y
=2%x9-3+2
=17




5. x7F-2,-1,0,1,2¥ o, o} F524] Fo|A a7} gle A2?

D x-1<3 @ 3x+6<5 ® —x+7<5

@)ax-7>1 ® 2(x+2)<6

@ 4x-7>1°] x| F= YN EHA
x=-29u-15>1:AA
x=-14d-11>1:AA
x=0dd-7>1:AA
x=19-3>1:AA
x=241>1:AA
wetA] H5Alo] Zho| B A oh= x3k2




@ 3

3>x+79% 2x+a>99 St goen=z
u|waho] 17

x<$9}3>x+7 = x< -4

= nEao syl 42 gonE
a— 9__4
2
a=1
. 2a=2




Sx<a+4xE AEotH x<a
ukEsts Mo o] At 1,27} HojoFstE R 2 < a < 39|

wojof g},




Uety A §35t4A47 At o] of, = 2o 4

420 =22 x3x5x7O|EZ
x 7} 22T 3x7 £ o5 AR & & 21 9] v
21 9] Wl £ S FolA 7 Zhe 4 21 o]k

Tx=21




3440235 5 242 1 o], £344 0235 5 x 2 51 A
st} Qtk, ojuff, 71 Helgh 4129
@ 100x —x @ 1000x — x ® 100x — 10x

@ 1000x — 100x QlOOOx 10x

~&B ~

10002=285.3535+
-) 10z= 2.3535-
9902=233

wHebA] & 1000x — 10x ©] T,

gl



234 135
234 = =— 135 = 2
D 0.23 2380 2 ® 0.135 288
2.3 = _ 502 ==
® 2.39 192%05 1 @®)0.50 999
® 1.235 = 9990

234
@ 0.234 = 999
o 185=1
@ 0.135 = 990
.. 239-2
® 2.39 = 99
502
@ 0.502 = T
® 1935 = 1230°1

999




e S8 SO o HeF 2 D olafel Sk 2% E A

@ 0.2 © 0.3 ® 04
® 0.7 ® 0.8 © 0.9

® 0.5

@ 0.6

@ 27 @ 374 ® 47

@371

® 674

9_0955} 2109

,_A

= 0.6 °|5}9] 42 0.2, 0.3, 0.4, 0.5

OTIOJ




12. E]'E—gas ]‘El"—c_’—ﬂ%?

A

@ 0.9:1

116
@ 0.234 =

" 495
©) o e

m ~— I
@ 0.250250250 -

o

A4E e
- =0.250

® 02134 o] ohelE 34 ol

4
©) 3

2
e

o]
AR

.

33

N ojlmg
2x3x5x7  22x5x7 ]
.




5% + 54 =25 5+ 50 452 450 4 50 =

@® -4 @ -2 @0

50 A, a-b o 27

@ 2

® 4

B

5% + 5% = 5574 = 5°
5—a=2 .a=3
5X5b:54,5b+1:54
b+1=4 ..b=3
a=3,b=3
ca-b=0




14. o ool So12 £24E el 2 ag 2.2

2 2
() < (2) -
a

®4,1,4 @)4,2.4 ®4,3,3
@ 4,3,2 ® 4,4,2
1\?2 [/2)\?
@ix () x() = a2 olm2 Wte] Eolzt 27

4,2,4




15. -2x%y% = x%y x (=2xy)? = AxByC & W, A + B+ C 9] 412?

@o @ 2 ® 4 @ 8 ® 16

B

1
—2x1y3 = x%y x (=2xy)% = —2x%y3 x xTy x 4x2y?
= —8xty?
= AxByC
A=-8,B=4,C=49BE2 A+B+C=0




